
® 14-ROD BIG GAME  
STORAGE CART

 
R10-0514103

 
TECH SUPPORT:     SUPPORT@TACOMARINE.COM     TACOMARINE.COM/TECHNICAL-SUPPORT

@tacomarine

 

Installation Instructions

	• 2 SIDE PANELS

	• 1 TOP RING

	• 2 SLANT BOARDS

	• 2 SPREADERS

	• 2 FEET

	• 4 CASTERS

	• 12 CAP COVERS

	• 12 COVER BASES

	• 8 1-1/4” SCREWS

	• 4 1-3/4” SCREWS FOR SLANT BOARDS

	• 4 BLACK CASTER SCREWS

Box Includes

IN
ST

R
U

C
-R

10
-P

O
LY

-R
A

C
K

S

1)	 Attach bottom ring to side panels using 1-1/4” screws, caps 	

	 and cover base.

2)	 Insert slant boards into the lower pockets of the side panels. 	

	 Using the 1-3/4” screws, caps and cover bases, insert screws 	

	 through feet and side panel into slant board. Do not over 	
	 tighten!

3)	 Install the top ring with the 1-1/4” screws, caps and cover 	

	 bases.

4)	 Install casters on feet with screws facing outward.

5)	 Install spreaders between slants by pushing spreader 	

	 between slants and twisting 90°. Spreaders are used to 	

	 evenly maintain the heavy load of rods and reels.

Thank you for purchasing the 14-Rod Big Game Storage Cart by 

TACO Marine. Since 1959, we have taken great pride in offering 

the highest-quality products with excellent customer service. We 

stand behind our products 100 percent. Please visit our website 

tacomarine.com for more detailed information on a wide variety 

of products and to register your new accessory for warranty.


